

IQRA NATIONAL UNIVERSITY



Differential Equations

Final Term Assignment Summer 2020

Name: Kaleem Ullah

ID: 13170

Submitted to: Himayat Ullah Sir

⇒ Question No (1)

⇒ Estimate the general solution of $4y'' - 20y' + 25y = 0$.

(Solution) :- $4y'' - 20y' + 25y = 0$

The auxiliary equation

$$4\lambda - 20\lambda + 25 = 0$$

$$4\lambda - 10\lambda - 10\lambda + 25 = 0$$

$$2\lambda(2\lambda - 5) - 5(2\lambda - 5) = 0$$

$$(2\lambda - 5)(2\lambda - 5) = 0$$

$$2\lambda - 5 = 0, \quad 2\lambda - 5 = 0$$

$$\lambda_1 = \frac{5}{2}, \quad \lambda_2 = \frac{5}{2}$$

$$\lambda_1 = \lambda_2 = \frac{5}{2}$$

⇒ The roots are equal

So

$$y = (c_1 + c_2 x) e^{\lambda x} = (c_1 + c_2 x) e^{\frac{5}{2}x}$$

Answer.

⇒ Question NO (2)

⇒ part (A)

⇒ calculate the initial value problem $y' + 2y' + y = 0$

$$4. \quad y'(0) = -6$$

(Solution):-

Auxiliary Solution

$$\lambda^2 + 2\lambda + 1 = 0$$

$$\lambda^2 + \lambda + \lambda + 1 = 0$$

$$\lambda(\lambda + 1) + (\lambda + 1) = 0$$

$$(\lambda + 1)(\lambda + 1) = 0$$

$$\lambda_1 = -1, \quad \lambda_2 = -1$$

⇒ Roots are real and equal

$$y = (c_1 + c_2 x) e^{\lambda x}$$

$$y = (c_1 + c_2 x) e^{-1x} \quad \text{or} \quad y = c_1 e^{-x} + c_2 x e^{-x}$$

$$\text{where } x = 0, \quad y = 4$$

$$4 = c_1 e^0 + c_2 e^0$$

$$(4 = c_1)$$

⇒ Since

$$y = c_1 e^x + c_2 x e^{-x}$$

$$\Rightarrow y = -c_1 e^{-x} + c_2 e^{-x} - c_2 x e^{-x}$$

Where

$$x = 0 \quad , \quad y = -6$$

$$-6 = -c_1 + c_2$$

$$-6 = c_1 + c_2$$

$$-6 = -4 + c_2$$

$$c_2 = -6 + 4 = -2$$

$$(c_2 = -2)$$

So particular solution

$$\left\{ y = 4e^{-x} - 2xe^{-x} \quad \text{or} \quad y = (4 - 2x)e^{-x} \right\}$$

Answer.



⇒ Question No(2)

⇒ part B

Analyze the general solution of $x^2y' + 3xy' + y = 0$

(Solution):- $a = 3, \quad b = 1$

$$m^2 + (a-1)m + b = 0$$

$$m^2 + (3-1)m + 1 = 0$$

$$m^2 + 2m + 1 = 0$$

$$m^2 + m + m + 1 = 0$$

$$m(m+1) + 1(m+1) = 0$$

$$(m+1)(m+1) = 0$$

$$m = -1, \quad m = -1$$

Roots are real and equal

So

$$y = (c_1 + c_2 \ln x) x^m$$

$$y = (c_1 + c_2 \ln x) \cdot x^{-1}$$

Answer.

⇒ Question No (3)

⇒ Examine the method of undetermined coefficient method for $y'' + y' - 6y = 6x^3 - 3x^2 + 12x$.

(Solution) :-

$$h^2 + h - 6 = 0$$

$$h^2 + 3h - 2h - 6 = 0$$

$$h(h+3) - 2(h+3) = 0$$

$$(h-2)(h+3) = 0$$

$$h_1 = 2$$

$$h_2 = -3$$

$$y_h = c_1 e^{2x} + c_2 e^{-3x}$$

⇒ Check for y_p

$$y_p = k_2 x^2 + k_1 x + k_0$$

$$y'_p = 2k_2 x + k_1$$

$$y''_p = 2k_2$$

$$\Rightarrow 2k_2 + 2k_2 x + k_1 - 6(k_2 x^2 + k_1 x + k_0)$$

$$= 6x^2 - 3x^2 + 12x$$

$$\Rightarrow 2k_2 + 2k_2x + k_1 - 6k_2x^2 - 6k_1x - 6k_0 = 3x^2 + 12x + 0$$

$$(2k_2 - 6k_1)x = 12 \rightarrow \textcircled{1}$$

$$-6k_2 = 3 \rightarrow \textcircled{2}$$

$$k_2 = -\frac{1}{2}$$

$$2k_2 + k_1 - 6k_0 = 0$$

$$2x - \frac{1}{2} - 6k_1 = 12$$

$$-1 - 6k_1 = 12$$

$$-6k_1 = 12 + 1$$

$$-6k_1 = 13$$

$$k_1 = \frac{13}{6}$$

$$\Rightarrow 2\left(-\frac{1}{2}\right) - \frac{13}{6} - 6k_0$$

$$-1 - \frac{13}{6} - 6k_0 = 0$$

$$-\frac{6-13}{6} = -\frac{19}{6}$$

$$k_0 = -\frac{19}{6}$$

Answer.

⇒ Question No (4)

⇒ Examine the method of variation of parameters for $y'' - 4y' + 4y = x^2 e^{2x}$.

(Solution) :- $y'' - 4y' + 4y = 0$
 $\lambda^2 - 4\lambda + 4 = 0$
 $(\lambda - 2)^2 = 0$
 $(\lambda - 2)(\lambda - 2) = 0$
 $\lambda_1 = 2, \lambda_2 = 2$

⇒ Roots are equal

$$y = (C_1 + C_2 x) e^{2x}$$

$$\{y_u = C_1 e^{2x} + C_2 x e^{2x}\}$$

⇒ Now :-

$$y_1 = e^{2x}, y_2 = x e^{2x}$$

$$y_1' = 2e^{2x}, y_2' = 2x e^{2x} + e^{2x}$$

$$\Rightarrow w = y_1 y_2' - y_1' y_2$$

$$\Rightarrow w = (e^{2x}) (2xe^{2x} + e^{2x}) - (2e^{2x})$$

$$w = 2xe^{4x} + e^{4x} - 2xe^{4x}$$

$$\{ w = e^{4x} \}$$

$$y_p = -y_1 \int \frac{y_2 v(x)}{w} dx + y_2 \int \frac{y_1 v(x)}{w} dx$$

$$y_p = -e^{2x} \int \frac{(xe^{2x})^2 (x^2 e^{2x})}{e^{4x}} dx + xe^{2x} \int \frac{(e^{2x})^2 (x^2 e^{2x})}{e^{4x}} dx$$

$$y_p = -e^{2x} \int \frac{x^3 e^{4x}}{e^{4x}} dx + xe^{2x} \int \frac{x^2 e^{4x}}{e^{4x}} dx$$

$$y_p = -e^{2x} \int x^3 dx + xe^{2x} \int x^2 dx$$

$$y_p = -e^{2x} \cdot \frac{x^4}{4} + xe^{2x} \cdot \frac{x^3}{3}$$

$$y_p = \frac{-x^4 e^{2x}}{4} + \frac{x^4 e^{2x}}{3}$$

$$\Rightarrow y_p = \frac{-3x^4 e^{2x} + 4x^4 e^{2x}}{12}$$

$$\Rightarrow \left\{ y_p = \frac{x^4 e^{2x}}{12} \right\}$$

So

$$y = y_h + y_p$$

Answer.



=> Question No (5)

=> identify an ODE $y'' + ay' + by = 0$ for the basis $1, e^{-3x}$.

(Solution):-

$$y_1 = e^{0x}, \quad y_2 = e^{3x}$$

$$y = C_1 e^{0x} + C_2 e^{3x}$$

So both roots are real and distinct

$$y = (C_1 e^{\lambda_1 x} + C_2 e^{\lambda_2 x})$$

$$\text{So } \lambda_1 = 0, \quad \lambda_2 = 3$$

$$\lambda_1 = 0, \quad \lambda_2 - 3 = 0$$

$$(\lambda) (\lambda - 3) = 0$$

$$\lambda^2 - 3\lambda = 0$$

So

$$\lambda^2 - a\lambda + b = 0$$

$$\text{As } a = -3, \quad b = 0$$

So

$$y'' + ay' + by = 0$$

$$\boxed{y'' - 3y' = 0}$$

Answer. (OR) =>

$$\Rightarrow y_1 = e^{0x} \text{ , } y_2 = e^{-3x}$$

$$y = C_1 e^{0x} + C_2 e^{-3x}$$

So roots are real and distinct

$$y = (C_1 e^{\lambda_1 x} + C_2 e^{\lambda_2 x})$$

$$\text{So , } \lambda_1 = 0 \text{ , } \lambda_2 = -3$$

$$\Rightarrow \lambda_1 = 0 \text{ , } \lambda_2 + 3 = 0$$

$$(\lambda) (\lambda + 3) = 0$$

$$\Rightarrow \lambda^2 + 3\lambda = 0$$

$$\text{So , } \lambda^2 + a\lambda + b = 0$$

$$\text{As , } a = 3 \text{ , } b = 0$$

$$\text{So } y'' + a y' + b y = 0$$

$$\boxed{y'' + 3y' = 0}$$

Answer.

Thank You.